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Dissdpotvoetuleiflows

It k t doo ( ie ④ u ) + Pp = 0←{
door u = 0

U : IT
>
✗ I → A

}

p : IT
>

✗ I → Rt

[doo Lu ④ uBi=Ñ -D) if ;= FUJI; U ;
For smooth solutions

2. ¥
'

+ dir (( 1¥'t p / a) = 0 (LED

day tuff , E) dx = 0 (GEL )
11-3

Guarda distributional solutions and

continuously
conservation of mass : fu.se = o

""D

} that
}

ar

tuff .Caetano -Won of momentum ,

her 00th

% fie = ftularl + pr]
or
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Conjecture If u ed Kea :

1) if ✗ > § the GEI holds
.

2) if ✗ < § there are solutions which

do not casaoe the total kinetic

energy ( dissipate 1

theorem
1) Constantin - E - titi 1994

2) Idek 2017

( dissipation : Buckmaster - D - Saéhreeylwdi
-Wool )

these wight be a
" shadow " of

anomalous dissipation :

2- U t doo Lu ④ a) + Rp= Edu

{ door u= 0

% I fluicx.⇒a×=-fusu%µ×-
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2. ¥ + door ( u(¥+pH=

_Ébak E @ 1¥
'

- lbul
'

)

↳

2-¥'t doo (u(¥+p ) / so (LE Iraq . )

conjecture ( strong fun of Ouseget
Ifu.ci#Euawk > §
then the equality holds in C. LE Iraq)

Bede ( follows from C - E - T proof ! )Robed

✗ < tag 3- a solution wed for which

the inequality in ( LE Iraq . ) is shoot
.

knownintheldteeo.by :

D- Shéhrelylwdo ( 20081 fu bounded solutions

I. self ( 20191 fu continuous solutions , and
Holder

,
cts -

D - Kwon ( 20201 c.
↳ -



A-E a

1) Examine the
"

philosophy " behind

0 iterations fu the Euler equations

( own : to provide a general toolbox ) .

2) How to get to the Ouse ga conjecture from

the flexibility Nde

3) Local energy inequality .

I-1 c
'

Noshlssdeeuofutisanetwceeubeddiugf.LI
, g) Riemannian manifold

✗ c. I = I c Am
he ✗U

g
= Gi ; C- hyun >

u : r → But②← replace :b woke a
much larger number

he c- C
"

and u#e=g



Dut . Du =

g
5

< Jiu
,
Ijn > = Gi ;

Theory (Nosh )

Assume r=BJcÑh .

Then Fu ed ( BT
,
pity

s.t.ie#e=g

I want to set
up an iteration mechanism

which starting from some app .

solution

produces an exact solution .

Leo → Uz → • • • Uk → What

I ^

app .
Soe

.
with a beta- precision

i. e. g- wife / is small
app .
Sol

. fu which

metric
g- u¥µe is Wachsman

eua

wth good estimates on

Hawn -6 who



Assay g- uw# e > o
without

6
loss of

1- generality

- ( I - e)
'

Duty Drew + g is cewfnmly hole
1-

↳ woke it stuckey positive

toy situation : s - d Roan
. wawfoed

Us : I →
3

I - lie w/
2

> 0

Woe
ogftl

2

= 1 - lie at
"

tent , EH
= Uhr (t) + ¥4K ( t ) cos lot + b (f) sin lot]

T 1
but named freed

u L b

term = iewltl + • (b) E- ultl sin + bctl cos]

1--9%1
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lien , I

'
= Kirt 't ca

'

t 0 (J )

1- turf >> I - lie ha , /
2

> 0 Ñ
<< Swr

Choose • so that
£ ¥+1

I - turn /
2

u 8kt '
28g, I - Kiwi> •É

O < 1- lie
wa 12 < 28hr1
-

Hurt
,
- Us Hc ,

£ C Hall
,
I C. Fr

Choose She do so that I 88hr < too :

1) d convergence
2) the lout is a solution

.
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g- ug# e > 0 and small

-

0
;
c- Rim

g- Duart Duk y
n

6

least , = teh t ¥
,

If:(" it'd cost vi. × / + bi G) sin Avi > xD

U
;
d bi lbittui 1=1

Uid Uj

bit bj

4-bit Duw§R
" )

N

Duba -_ Blew + ¥9.1 - u ; cos + bi Sim ) ⑦ U;

1- indep . of
6 a

gÑÉÑ¥g - Dutta - É ai ri ④ o ;÷÷÷→i- i -4

+ 0 (t )
1

g- •airs
-

Easy linear algebra problem



Dan-air : as

If I has non twwol topology :

h = g- DUE . Blew

h= 2- 4Th
← fu some pantheon of

uwty
"
localisation procedure

"

Regehr : Careful , you cannot choose
0
; depending on ✗

D E. ( - u ; cos ( do:( x ) x )
> T

- Ui Qi cos ④ 0 ;

- Ui Qi cos ④ (Dvilxl . ×)

I
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Freeway the previous map a

fu our purposes we can consider

Dug =/constant

⑧ + Dw④
T perturbation that I won to

add
.

When G) = Why , (④ ,

Xx)

Wirt , ( × , g)

When ( h
,
A
,
g)

when G) = Wart , ( 46×1 , ACH , dx )

h = g- Burt Dug = g- AT . A

h - o

h - Dgw? Dyw = 0
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h - ZT . 2- = 0

2- (④⑧ask "

curly 2- = 0

zt . z
6 decompose it in piece ,
+ era which

"

I can kill "{ is2- > = O
Tena whoaI can add

one ( 2- ( 41×1 , ACH , dx ) )
= deeney 2- ( I + But + DAZ

%

2- ( h
,
A. b) = Tlgw ( h , A. is)

2-
'

( x
, 6×1 =P@ that , AW ,

bx)¥
Gul Z

'
= 0 ✓

hendee caetnoe
6

Z - t
'
=④Duw Dh t Daw A)
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First remark :

Idouotueedto-o.cl d all the connections

Q ? Oi ④ Ui all together

whobhoppeusfrowcodou.2bocaedowa.LA
+ ZT ( A+ -21 -- g

E. 2- + CATZ + ZTAI -_ g- ATA



@b.Plus

Year
+ doÑÉÑ+Ppw=dioR①

T
doo up = 0

Geuectioufu-

f divergence thee

Utsa ( ✗f) = leg (✗f) + Wfx ,t , dx, 661 + we

TPm (✗ it = Pat,tlt Plx
, t.dx.IE )

<Wz
→ drug W ( R , 0,5, e) = 0
is

W (

RwCx.t1.cewCx.E1.5.tlftEkhrt@eWfRr.us
,
tx
,
be )

+ ④b.B) W( Rr , air, dx.de )
- <W④W>g

+⑥ chug@ ( Rw , air, dx.de/xOW(Raies.dx,do

+ Other teens)= door R④
It is possible to imoat the dooeegeuceopeeohr
It is possible an operator Idi

' sit
.

doo ( (doo - ' z ) ) = -2 if < z >-0

on the thus



In oncology to Solway

door ✗ = f

✗ = ☐ (b-
'

f) if f- f-0

Rht
,
= dir

"

( Bdg expression )

2- W + fr . Ps ) W + ddrg W ④ W + Psp = 0/T{
drug W=0

aio-H.eu#E+Fieou(swxow-sIt0-Ys)--Rhrtiddu-
' ( other teen )= f-

diu
" ( doo l ,RÉ))

< W ④ W >g
= - R +

< W >
g
= 0


